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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
et e fre Sepife s fors
(a) Which measure of central tendency is
known as positional average?
@E deTOR (@I EIRT TATS AE I
Gl I ?
(b) ~ What is the SD of the following values?
\'/ s Tyl Tyt
wofd WICIIRS A e & 2
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( ) J{M‘\kc’j&b

o
W 68 o
{c)~ What is meant by ‘Kurtosis™
ol
g7 Aol i R g
(d)- What does r =0 signify?
r=0a R Te F@?

;{_e)/Define a random variable.
qyfoa veRd g Al |

y In a Poisson distribution mean =7,
variance = 8.
(Write True or False)

9Bl F5’ IBTS 9IS = 7, 2P = 8.
(W= 7 orem o)

(g) E(c)=?, where c is a constant.
E(0=? TS ¢ (7 90l 97 |
Q If P(A or B) = P(A) + P(B)- P(An B), then

what will be the nature of the events
A and B?

M P(A FRAT B) = P(A) + P(B) - P(AN B),
(OS2’ AYFE B (30 49feq 96412

~/(j,V What is joint probability distribution?
Qe e e 2 \

ﬁ} When does a sampling error arise?

aferrm @6 e 273 #ca 2

/4
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(3)
2. Answer the following questions : 2x5=10
PCRS T foi

@

"o

22A/41

For any two unequal positive numbers
a and b, prove that AM > GM.

R o SPHE §P YT a WIE B A
219 F91 @ AM > GM.

What is the probability that a non-leap
year will contain 53 Fridays?

a1 S-SR AR 530 WHEAE RN
sifder o5 2

If the covariance between x and y

variables is 12 and variances are 16 and

9 . respectively, find the correlation 3
coefficient between x and y . ‘ﬂl
i x SF y o1 5699 T 12 W R PR oK
A 16 WIF 9 T, (2T BIFPHR e c

ST e |

If X; is a random variable with
respective  frequencies  f;,  where
I'=1: 2, 3: ey N, show that E(}{] =)_{-

3 X; @bl A0S 551F W IR TR f: =,
TC i=1,23 0 (R oyen @
E(X) = X.

Mention two methods of rando
sampling. : m
qrpfoes 2AfSHT 1 *FfS Srary gy |
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(4) (5)

3. Answer any four of the following questions : (ii/)/—A random variable X has the following
5x%4=20 probability distribution :
woTs Tl 2P RCTe BIE Teq fore - Bl e VI X @ O Wl IG5
S I A :
ﬂ Find the first four moments about the 2R B ? 6 ; ‘ 1
mean from the following distribution : 5 Banmplia R Y08 e Oy 109
) Findméan and variance. 5
o RO MR W 2w g % I P, SR |
Sferea : )
_/M Explain the principal steps of a sample
Heights (inch) : 60-62 63-65 66-68 69-71 72-74 survey. 5
Gy (3fe) s “FEfed RISA T SCEATET <7 |
Frequency : 5 18 42 27 8
A (<)
4. Answer any four of the following questions :
10x4=40
(b) Prove that Karl Pearson correlation wog ReICAl B! or<q eq o
coefficient lies between +1 and —1 5 ” ;
’ What is dispersion? What are its various
(RS @ e PirEsr s 26 4+1 measures? Find the variance from the
=19 &S A | following table :

fovgae WeA 2 TR RS canem & o e
wifrrae 741 #437ee Sfeea

{c)/Deﬁne conditional  probability. 1If
20-30 30-40 40-50 50-60 60-70

P(A4)=0-4, PB)=0-7 and P (at least. Age (years)
;n;c;fg.or B) =0-8, find P (only one .;5,3=5 l?(:;;lrsorw 170 110 80 45 40
T
i\'ﬂjtw e e fia | e Bl =04, el hich measure is known as the ideal
:{0-)8= iﬁ:? if];';%iofj gﬁqﬁgﬁm) nvfe:;ure of dispersion? 2+42+5+1=10
B0 TS Bt ‘ PSR S
7?7
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(6 ) (7))

_ : tants of a Binomial
(b) Distinguish between positive and (9)- O.btajm Fhe consan.s D. o s
negative correlation. Find the rank A gewibution, Tniamgellgencs boat o
CoTrElE e Beear X GENY. Tebm Hhe : 1000 childrens, the average was 42 and
SD was 24.

following table :
i) Find the number of children

(IS SE WIS FRATad A1 o | oo
exceeding a score of 50.

frr et Rl X 9% Y9 of sS=mE

fered : . :
/a'i) .Find the number of children lying

Xe: 25 19 13 10 17 22 & 13 12 ' between scores 30 and 54.

Y 3 21 20 Z3 18 19 125 11" leal5

(i} Find the value of score exceeded by

Analyze the result. 3+5+2=10 ” the top 100 children. 5+2+2+1=10
T fcse w41 | ’ fop A% & TG Tferedn 1 1000 e
et R OO TS FH 42 W A fwer
(c) State and B i i
¢ ate and prove Baye’s theorem of
-y - . ] E ﬂo
probability. An urn contains 10 white, 6 (i 509(% ] el i
black and 3 red balls. 3 balls are drawn Sfere |
in succession. What is the probability (ii) 30 T 543 e T el Fre siam
that they are drawn in the order of Sferedm |
black, red and white if the balls are not iRy o
replaced after each draw? 5+5=10 (iti) 1 fifig g CARIo000 LTl
’ Sfepedt |
A @' ToMICH Te W 49 79 | IR P[0<z<'33)=0-1293
9Gl =S 1061 3971, 651 &1 W 361 ¢ 94 P(0 < z<-5) =0-30854
A AF OF <1 b1 o 01 7= w1 =
F ANCH T SR fiee sl FeEe Th
fin w29, owR'E TEE sl qu? @) i gyDistinguish,  betwigen [ probadi 1y
q, Fel, 99 4l // mass function and probability
SEACCICRCIEC RSN R ¥ ' density function. £ WA NS

( Turn Over )
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(8)

Cﬁi)—'A problem of chemistry is given to

three students A, B and C whose
chances of solving the problem are
+ % and 1 respectively. What is the
probability that the problem will be
solved?

(i) Under what conditions Binomial
g distribution tends to normal

distribution? ; 3+4+3=10
(i) @ S Fom 9 SPIRel ¥ Toe|
12 forsit |

(ii) I e REm3 961 50 A, B 9 Co
A IEAE il = S s 99
ke I TEE L, L oW L =,

(OCETEA Ao SN QAR FSifEre]
e 2
(iii) @F (M T HAES @9 157 e
3bete “if4ae =4 ?
() Explain the different types of sampling

with their relative merits and demerits. 10

aferra RiSa Aoz S geR tre
S I |



